MAYY—Z(RYVT—RyAT) EDLLER M8 RELIE

MA-5-16 JV[eRBIC MA-35-57 JY[efcisRala b & — )(jj D “J 7

EE I\ &E I\

N/mm2 81 N/mm?2 138 . '

N ® BH7ILIES ZILRA N MC :JU_X PAT P

OvZmRIbk a OwZibk g

A A N w® BHTILZES FILRA~

:lglri llEtl'i .
E—XUh | 6.27x107 JREEERQIEM E—xUk | 212x10+ ARSI RAETTE SCM 435 B e LIRS

kg:m? kg:m2 bk
BiE SRR

A

Iner ring [ZIV=T—VZEZE#HE CifaLicLibl, T—UNEHRELED T EIFEF L]
CORIECERZSEHRDSIERHL. ZIV=T-UESOREELRANOY I ZHFE,

TNATUTERILS J\Z Hub i
Hexagonal hole cap screw Inner ring
e
1
/ tee———I-
b LU

/ e -
@‘ ’@‘ NATUTERILS Outer ring

Hexagonal hole cap screw

B 1 6l

N7UV TR RS

-Point.2 «7”77**2%*%1?3’

N7 U g X DOy I AREICESE, XFUYT
A ZEIFEL. N\JHIICHDIEEZRFEIEDCEICKD. 7ILE HADEBEDAEELEDET,
T—UEnfmEEETEICLE LR, X §ES T — U S ERT.

HBTFEIERDODE R [ HUTUEHUTHEB I )

WERDANOY I TR DEZZERBUCEH TS B FCTmmOREZRIF TR K SRELCHDE LD MCYU—X T3 ERFD/\TD
BEANX—RZERUELTERAL—RXEBMOH UNAREE ED E Ulc BIEY+ T RTOXANOY I DUBRODDEZEEDE T,

<MC Y U—XEMRKS A TDEEE>

o . XHh0OvT kK517 XA0vY MCYU—X
D\~ Ideas SO, 5— s RPUVS  XAOvs
to innovate ~TT o mIm . IR ens—hiE ’ ’ . 15— HRETHREREEHIN
- °® @/\TMII&E. i ORRAELT—VUZERATE,

— P AT T TRREES BENTHUE A NI EEERMIOHBTOK
71t) I/*gk ICB*:I: OEITIHMHN DS 1l exT o TR,

_ . ( (TEFDMBEROHUE) HIUTH R TRBERD T
T581-0068 KERAF/\EHHEILNE 1 TE 2% 16 2 T456-0022 BB AT ETHABERERI-11-6 7UMEL)L303 X OERZIVININCTRIEN

TEL : 072-991-0450 FAX : 072-994-7593 TEL : 052-681-0420 FAX:052-681-0430 NI NP TR TE?
T729-5112 KB REFRWRMATHIEN 6 it . . . s . (T
= TEL : 08477-2-3699 FAEX - 08477-2-3314 XETICETABHMVEERR. GEIIBNSEBLIEE L, TEXMEILRMHTIMMEL LOTEEDHYE)

T343-0844 B ERB AT AMKEE 5 TH 55 &ith M WEBSITE > > > http://isel.jp ]

TEL : 048-986-6351 FAX:048-986-6361

@5 DSBS SE IR LSS N T 5, 5 ORI B ERRE T T o L A S8 A. BB O RO B4 2 SR LR TN DT RO A RIBES T ET, J’r t } lj A i
b APEOT ONEIS T EACEET BN BUET, ORNEEHIT 3. LAREUER. BEXERAL (oS BREMHCHETHBA BEHTRESLEL RSB TA, I\r=

D-0232 PP 20180601/5,000/02




7L twVH
g%

uvg

Aluminumalloy  Centering

7’[’59’{7 Aluminum Type

TR MC -4 -15

JY—XE AE(d) S42(D) L
Type Bore Outer

Ordering form

—L3
‘—L4—’|_| Bl shart INT o o o

L — A
T 1 6a 3.2a
a NT N~
g\ < n I
— % gi - — |- % O g S — = = = T N - 4| —
o al | # Shaft 3

= \L r—
’ N7 Hub

A - A WiE Sectional drawing

1:': *z% / T_I' ;£ B Unit: mm
IR BAHBMLY | B | BEXSAEE | g E | mEEAb | Sy |8 B el Pt oo aizes PHIBRNTRASE
Type Maximum torque Price Thrust capacity = quept of | Tightening | Weight Smallest diameter of

MC- 4 - 15 2 4,700 1.00 151 37 1.99%107 0.9 6 15.5 13 9 6.5 17.5 6.5 10.1 M2.5x12 | 2 4 15 9 19
MC -45 - 16 22 4,700 1.00 134 35 1.99x107 0.9 6 15.5 13 9 6.5 19 7.5 11.1 M2.5x12 | 2 4.5 16 9 20
MC-5 - 16 2.5 4,700 1.00 121 35 2.65%107 0.9 7 16.5 13 9 6.5 19 7.5 11.1 M2.5x12 | 2 5 16 9 20
MC- 6 - 17 4 4,700 1.33 151 49 3.31x107 0.9 8 15.5 13 9 6.5 20 8.5 12.1 M2.5x12 | 3 6 17 9 23
MC- 8 - 19 6 4,700 1.51 129 51 5.95x107 0.9 11 17.5 15 10 7.5 22 11.0 14.1 M2.5x14 | 4 8 19 10 26
MC - 10 - 21 8 4,900 1.63 104 46 8.52x107 0.9 12 17.5 15 10 7.5 24 13.0 16.1 M2.5%X14 | 4 10 21 10 29
MC - 11 - 22 9 5,100 1.66 88 41 1.08x10% 0.9 14 19.5 17 11 8.0 25 14.0 171 M2.5x14 | 4 11 22 11 30
MC - 12 - 24 12 5,200 1.99 89 42 1.62x10° 0.9 17 20.5 18 12 9.0 27 15.0 192 | M25X15| 5 12 24 12 33
MC - 14 - 26 18 5,300 2.56 91 47 2.16x10° 0.9 19 20.5 18 12 9.0 29 17.0 212 | M25X15| 6 14 26 12 38
MC - 15 - 28 25 5,700 3.34 79 38 3.18x10° 1.5 24 23.0 20 13 9.5 31 18.5 222 M3%18 4 15 28 13 40
MC - 16 - 29 26 5,800 3.34 74 37 3.50x10° 1.5 25 23.0 20 13 9.5 32 19.5 23.2 M3%18 4 16 29 13 41
MC - 17 - 30 27 5,800 3.18 66 34 4.23x10* 1.5 28 24.0 21 14 10.0 33 20.5 24 M3X%18 4 17 30 14 42
MC - 18 - 31 29 5,900 3.23 78 41 4.75Xx10° 1.5 29 24.0 21 14 10.0 34 215 25 M3%X18 5 18 31 14 46
MC - 19 - 32 33 5,900 3.50 74 40 5.32x10*® 1.5 30 24.0 21 14 10.0 35 22.5 26 M3X18 5 19 32 14 49
MC - 20 - 37 54 6,200 5.47 92 46 1.06x10° 3.5 47 28.0 24 16 12.0 40 24.0 29.4 M4x20 4 20 37 16 54
MC - 22 - 39 65 6,400 5.94 83 43 1.33X10° 3.5 52 28.0 24 16 12.0 42 26.0 31.4 M4Xx20 4 22 39 16 56
MC - 24 - 41 85 6,500 7.07 84 46 1.67x10° 3.5 57 30.0 26 18 13.0 45 28.0 33.3 M4x22 5 24 41 18 59
MC - 25 - 42 110 6,700 8.77 97 53 2.08x10° 3.5 67 32.0 28 19 13.5 46 29.0 34.3 M4Xx22 6 25 42 19 64
MC - 28 - 45 125 7,000 8.91 101 57 2.65%10° 35 73 32.0 28 19 13.5 49 32.0 37.3 M4x22 7 28 45 19 72
MC - 30 - 50 180 7,400 12.08 99 56 4.46%x10° 7.0 101 35.0 30 20 14.5 55 34.5 40.8 M5%25 5 30 50 20 76
MC - 32 - 53 210 7,600 13.13 104 59 5.55X10% 7.0 112 35.0 30 20 14.5 58 36.5 43.3 M5X25 6 32 53 20 81
MC - 35 - 56 230 7,700 13.13 92 54 7.61x10% 7.0 134 38.0 33 22.5 16.0 62 40.0 46.4 M5x28 6 35 56 22.5 85

ST FBSDERENO. 1 mmETICED/ N\ TRIVMEZBEL THEDET,
(FIVZBREWHDEL TOTYITRMEWVD. FHIBCHARDBAL TS BEENES NSV RN GO T .)

7AEIVSEREH 71EILKER St



